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L P8 BRI R A R 2 ] BRAKHERCA 2.015 20 0.048 1.0 - - - — 69. 7552 —
L”Eﬁéézz$4itﬁ%§§§%§g§§KEQ}FH1aji@§ BRAKHE A 1.812 20 0.088 1.0 - - - — 15. 1347 —
LV P RR B AL A BR 2 = BRKHERA 3.066 20 0.153 1.0 - - — — 8. 8002 —
L VAR B £ A ML A R 2 ) BRAKHE A 3.323 20 0. 189 1.0 - - - — 61. 7581 —
[ I P Ry SV K H 12. 782 40 0. 127 2.0 0.163 0.4 5.534 15 599. 8254 —
Ll PH K SR K AL BEA BR 2 ) B H 8. 904 40 0.128 2.0 0.177 0.4 8.116 15 825. 0991 —
E%iFEiimf$£%z§fzgi§%é§%ﬂ ORILFEK BRAKHE A 8. 397 40 0.131 2.0 0.115 0.4 6. 566 15 88. 5608 —
L”Eﬁéézz$4itﬁ%§§§%§ggqKEQ}%ﬂEgzzﬁi BRAKHER A 2. 665 20 0.116 1.0 - - - — 133. 7696 —
W PP LA R ST AR A 7 KF PR A 2. 056 20 0.048 1.0 - - - — 109. 703 —
W PP LA TR SR A 7 Sl B A 2.785 20 0. 041 1.0 - - - — 410. 1597 —
L”Eﬁéézz$4iiﬁ%§§§%§i§gKEQ&EﬂEéiiﬁi BRAKHE A 1.731 20 0.117 1.0 - - - — 274. 3125 —
L VB A 0 4 AT ) I A R 2 ) BRKHERA 2.782 20 0.274 1.0 - - - — 316. 9813 —
L P P RR T EE AL A BR 2 = BRAKHER A 1.193 20 0. 105 1.0 - - - — 202. 7155 —
W P ARG LA R A BRAKHERCA 0. 666 20 0. 265 1.0 - - - — 83.6515 —
L P AR B R RS A R 4 =) BRAKHER A 2. 599335 20 0. 018087 1.0 - - — — 3. 1501 —
Ll BB EAL LA BR 2 = BRAKHERA 2. 0855 20 0. 0052 1.0 - - - — 22. 4432 —
L VB A 1 T B L A R 4 =) BRAKHE A 8. 548 20 0. 309 1.0 - - - — 34. 6218 —
VPR T SR A BR 2 = BRAKHER A 5. 424 20 0.1227 1.0 - - — — 0. 5652 —
P P RRY JE S LA BR 2 = BRAKHER A 2.695 20 0. 256 1.0 - - - — 55. 3055 —
ey sag:ck ek eapapeaac] iy i BRAKHE A 1.833 20 0. 285 1.0 - - - — 64. 2007 —
L P AR 7 B B 2R L A R 4 ) BRAKHER A 3.738 20 0. 057 1.0 - - - — 67.0074 —
WP R AR R IR A BRAKHE A 4. 508 20 0. 357 1.0 - - - — 13.6158 —
L V8 P RR X B LA BR 2 = BRAKHERA 1.213 20 0. 059 1.0 - - - — 10. 0024 —
P 2= A8 LA R A BRAKHERA 7.412 20 0. 1240 1.0 - - - — 51. 3763 —
L P 2= A6 ) LA R A BRAKHERCA 4.100 20 0. 156 1.0 - - - — 60. 0178 —
P PR K LA BR 2 = BRAKHER A 7.573 20 0.118 1.0 — — — — 0 -
[ERRIPNNAY BRAKHE A 11. 602 250 7.905 45 - - - — 15. 4442 —
P PR AR LA PR 2 = BRAKHER A 0. 748 20 0. 246 1.0 - - - — 59. 2897 —
T KB A PR A BRAKHER A 32.124 200 0. 021 20 — — — — 0 -
LV 22 AESR AR ISR 6 BR 2 =) BRAKHER A 2.716 20 0. 061 1 - - - — 29. 3571 —
RATIHIE B A BR 2 = BRKHER A 22.518 40 0.134 2.0 0. 160 0.4 — - 21. 3159 f#ig
JE%ﬁET;H&%é*”E@i%%’ RELTALTH BRAKHER A 11. 690 40 0. 688 2 - - 5.908 25 160. 3509 —
L P A TH R ST A A BRAKHE A 4.816 40 0. 054 2.0 - - 11.253 25 93. 6966 —
L P 24 6 P AL TR A FR A ] BRAKHERCA 0.471 40 0.095 2.0 - - — — 0. 6023 —
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